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picked LP. The ercoblem is Wok these noises don
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Polanomiah=Deaee,oF PdynromiaL
REE: % of RBs, * and O-

Gener Speaking, \now yoo Choose. Lhe

a — 2 Yo do She Avoid, Gad

\ioUdatton and use She loss to decie She

\oeak posamekers.

For RBE, we can use Whe Sllowsing
guidelines
@) lo pick Ane, center :

\. Place the centers orkermy seaced
ContainingShe doko This is simple
lout can lend Ye emphy cegions vith

bovis ackons and us\: hose on

impcackicoLnumber of daha eonks
\n WigherAimensiono$L\neut Spans.
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